e 3

(%1 1)

B X SRR E DB EH

-+ 2 H O FERMIFEL : 3,600 £ (FURUEMERA 2,000 £, P C RFE 1, 600 1)
-+ 2 H ORISR B : 26 H
- i FEE OEADOER
[FUREMBRES > ]

AR BT AL A%
R4. 8. 20 1, 000 200 200, 000
R4.9.1 1, 600 200 320, 000
R4.9.5 1, 300 800 1, 040, 000
R4. 9. 20 1, 000 800 800, 000
&t 2, 000 2, 360, 000
[PCRBREFY 1]
ftAH A B A A% (AN
R4.8.18 6, 000 40 240, 000
R4.8.22 | 5,000 + 7,000 - 8,000 60 (% 20) 400, 000
R4.9.1 5, 000 380 1, 900, 000
R4.9.13 7,000 280 1, 960, 000
R4.9.19 8, 000 80 640, 000
R4.9.20 6, 000 760 4, 560, 000
At 1, 600 9, 700, 000

(1) FEESRENF v MEARMIZET 5FHE
O RAHEMLOHLREOHE -
1,500 (Hiffi) X 2,000 (fE%) =3, 000,000 [

@ EBROLARMOEHE -

1,000 (fEAHAR) X200 (A% +1,600 (FEAH/E) X200 (fH%)
+1,300 (fEAHME) X800 () —+1,000 (fEAHAH) X800 (%) =2, 360,000 M

R DEQDOLYINELVEE = 2,360,000« « - a

(2) PCRBRENF vy MEAFRMIZET 53HE
(t: A\ B 25 R4. 8. 31 BARISY)
® BEMOWHBILREDE -
7,000 (Hiffi) X (40+20-+20-+20) (A% =700, 000 M
Q@ EBEOHLARMOEE :

6,000 (fLAHHH) x40 (fE%) +5,000 (FAHAM) X20 (E%) +7,000 (LAHAM) X20 (&%)

+8,000 (fEAHf) X20 (fE%k) =640, 000 Y
B DEOQDEYINELVEE = 640,000 + - +b




AL 3
(HE A B A5 R4. 9. 1 LAKESY)
® 1HEYOKRRERBORHEE
R4. 9. 1 DABRITAE AN TZREE S » b &2 L2 BUREMERE & PCR A OAFE (3,300 [A]))
25, 100 (BEl/H) X26 (B@BP4) =2,600 BB 572D, [1 HYED ORBEERS, 100 BZ2E2 55
B Ty
@ BEMO@HBLEEORELZTE
50 (El/H) X26 (BR%) X1,500/3,300 (R4.9.1 BT HEAN %9 b 2665 LB 5 B PR BATEIS)

=590.90=590 (NEUSLLFIEEE) - - - BEEO
100 (HI/H) X26 (BEH%) X1,500/3, 300 (R4. 9. 1 LI HEAFT %y b &M L 7= BRI D 5 5 PR RAEIE)
=1181.81%=1, 181 UMNESLAFIZEIET) « - - HEO

® RAHEMOWHBLIREDEE !
7,000 (HAf) X590 (BED) +5,000 (Hiff) X591 (MEQ—D)
43,000 (HA) X319 (Ra.9. 1 LAKEICHEAFIH9 b % 1 L7 POR Mesls— @) =8, 042, 000 [
@ EEOHARBOHE
5,000 (fEAMff) X380 (M%) +7,000 (fEABE) X280 (fE%) +8,000 (f:AHfH) X80 (%)
+6,000 (FEANAH) X760 (fEX) =9, 060, 000 [
® @LODLYIINEIMEE = 8,042,000 - + - ¢

(3) HEREZOHEA

D BHECMOHB EREOREELEHE -
50 (|I/H) X26 (A% =1,300- - - BEEDO
100 (El/H) X26 (A% =2,600 « - - FEHE

Q@ AEFOWENEDE !
2,500 (FI/IE) X1,300 (BMED) +1,800 [ (M/mE) X 1,300 (MED—EED)
+1, 100X 1,000 (R5.2 A Ot —MiER) =6, 690, 000 H

® @n%E = 6,690,000 + -d

(4) BMEZERSOMBE (2A%)
a+b+c+d =17 732,000 [



BIE 3
(%1 2)

- 2 A O FEREEL 0 800 4 (FUREMEMRE 500 £, P C RERA 300 {4)

c 2 A ORENSHEA L 20 A

- FEhiFEEE OEAOEH
[FUREMBRES > ]
AR A HT A% A%
R4.9. 15 1, 600 500 800, 000
ARt 500 800, 000
[PCRIREXY I]
ftAH B A (AN
R4.9.1 5, 000 300 1, 500, 000
&t 300 1, 500, 000

(1) FEEERED X vy MEARMICET 53HE
® AEMLOHELRIEDE
1,500 (Hfl) X500 (fE%%) =750, 000 [
Q@ EEOLARMOEE :
1,600 (fEAHAE) X500 (fH%) =800, 000 [
® DEQDELYINELNEE = 750,000/ - - - a

(2) PCREBEOXy MEARMICETSHE
CHEA B 23 R4. 9. 1 DLKESYY
D 1H%EYORBERKOMESR

R4. 9.1 IRRIZAE AN oA = v M2 L& (BUREMERRE & PCR MDA FF (800 [A])) 23,

50 ([Hl/A) X20 (B@RA%) =1,000 [F XD /NIVMEDTZ80,

(Z5%4
Q@ BHEMOWHBLRIEDIE
7,000 (Eff) X300 (&%) =2, 100, 000 H
@ EBEOHEARMOHE
5,000 (fEAN{H) X300 (fE%) =1, 500, 000 [
@ DEQDOEYINELNEE = 1,500,000/« + - b

(3) BAEREFOHEA
® REMOWHBIZEDOIE :
2,500 (F/[]) X 800=2, 000, 000 M
@ @mn%E = 2,000,000H - + -c

(4) WEZEME OWMEEE (2 A4))
a + b + c =4,250,000 [

1 B %72 Y ORBRERED, 50 EILTOHE |




e 3

(%1 3)

- 2 A ORAEFEREEL : 1,400 4 GUEGEMMRA 700 £, P C R 700 1)
- 2 HOMRAEILSFEE B 4L : 20 H

- FEhiFEEE OEAOEH
[FUREMBRES > ]
AR A HT A% AR
R4.9. 15 1, 600 700 1, 120, 000
& 700 1, 120, 000
[PCRIREXY I]
ftAH B A (AN
R4.9.1 5, 000 700 3, 500, 000
&t 700 3, 500, 000

(1) FEEERED X vy MEARMICET 53HE
® AEMLOHELRIEDE
1,500 (¥4f) X700 (f#%) =1, 050, 000 [
Q@ EEOLARMOEE :
1,600 (fEAHE) X700 (f#%) =1, 120, 000 [
® DEQDOEYINELNVEE = 1,050,000+ + - a

(2) PCREBEDFy MEARMICBET 25HE
(LA B A3 R4. 9. 1 BAESY)
D 1B4:YORREEKDHESE
R4. 9. 1 AR AN IR~ R A Lo RS (BUREM A & PCR A DOGFE (1,400 [E])) A3,
50 (El/H) X20 (B@H%) =1,000 BILLE, 2>, 100 (BI/H) X20 (@ H%) =2,000 BEILLF D70,
(1 Y7 Y OBREREIE, 50EZ#x, 22, 100 BLLFOHE] I2%Y
@ BHEMAOWHBLREORELZTE
50 (|l/H) X20 (A% XT700/1, 400 (R4.9.1 BAKEICH AR5 b 260 L7 A 5 B PCR BRAEIA)
=500+ - - gﬂ{ﬁ@

@ AEMOHELRIEDE
7,000 (Hffi) X500 (BfEQD®) +5,000 (HAh) X200 (R4.9.1 LI ANZ%y b 24 ] L7= PCR M [H13 — BEQD)
=4, 500, 000 [

@ EBOLARMOE :
5,000 (fEANfH) X700 (fE%) =3, 500, 000 [

® @E@DELEYNELNEE = 3,500,000 - - +b

(3) HFEREZOHEA
D BHEMOM@ELRIENREEZHE -
50 (HEI/H) X20 (B#H%¥0 =1,000« « - BMEO



e 3

Q@ HBHAOMBIZEDETE -
2,500 (M/E) X1,000 (BE®) +1,800 M (/[ X400 (R5.2 H o#tERE—BED) =3, 220, 000
® @QmxE = 3,220,000 - - -¢

(4) BEZEMESOMEEE (2 A4)
a + b+ c =17,770,000 M



